2 Yarn length measuring device on the S T 0 L L

left THE RIGHT WAY TO KNIT

Yarn length measuring device on the left

Pos | Designation Id Pos | Designation Id

b2 Yarn length measuring device on the 257 283 8 Yarn guide rod 257 139
left complete

1 Housing 257 281 9 Card Ascon 255 000

2 Support 257 278 10 Threaded strip 257 138

3 Cover 257 273 500 | Pan-head screw M5x10 023 247

4 Ventilator with plug 257 048 501 | Screw 50x15 251728

5 Protective grid ventilator Servo5 229 142 502 | Sheet metal screw ST3.5x13 022 940

6 Sensor 211 354 503 | Oval head screw with washer M3x10 023 380
6a | Rubber running ring 258 582 504 | Spring nut M5 022 873

7 Sensor complete 212 406 505 | Serrated lock washer J3.7 022 554




S T 0 L L Yarn length measuring device on the 3

THE RIGHT WAY TO KNIT right

Yarn length measuring device on the right

Pos | Designation Id Pos | Designation Id

b2 Yarn length measuring device on the 257 282 8 Yarn guide rod 257 139
right complete

1 Housing 257 281 9 Card Ascon 255 000

2 Support 257 278 10 Threaded strip 257 138

3 Cover 257 273 500 | Pan-head screw M5x10 023 247

4 Ventilator with plug 257 048 501 | Screw 50x15 251728

5 Protective grid ventilator Servo5 229 142 502 | Sheet metal screw ST3.5x13 022 940

6 Sensor 211 354 503 | Oval head screw with washer M3x10 023 380
6a | Rubber running ring 258 582 504 | Spring nut M5 022 873

7 Sensor complete 212 406 505 | Serrated lock washer J3.7 022 554




4 Yarn length measuring device on the S T 0 L L

left complete THE RIGHT WAY TO KNIT

Yarn length measuring device on the left complete

Pos | Designation Id Pos | Designation Id
b2 Yarn length measuring device on the 257 600
left complete
1 Yarn length measuring device on the left | 257 283 9 Holding plate 258 386
complete
2 Cable ASCON 257 239 500 | T-head bolt M8x25 022 866
3 Support on the left 257 122 501 | Ribbed lock washer M8-10 023 026
4 Connecting lug on the left 257 137 502 | Cap screw M4x8 022 501
5 Adjustment weight 212 241 503 | Cable tape 92x2,4 008 642
6 Instructions ASCON 257 597 504 | Cap screw M5x12 020 132
8 DVD with operating instructions 258 391 505 | U-washer 5 020 871




STOLL

THE RIGHT WAY TO KNIT

Yarn length measuring device on the right complete

Yarn length measuring device on the

right complete

5

Pos | Designation Id Pos | Designation Id
b2 Yarn length measuring device on the 257 599
right complete
1 Yarn length measuring device on the right | 257 282 9 Holding plate 258 386
complete
2 Cable ASCON 257 239 500 | T-head bolt M8x25 022 866
3 Support right 257121 501 | Ribbed lock washer M8-10 023 026
4 Connecting lug on the right 257 136 502 | Cap screw M4x8 022 501
5 Adjustment weight 212 241 503 | Cable tape 92x2,4 008 642
6 Instructions ASCON 257 597 504 | Cap screw M5x12 020 132
8 DVD with operating instructions 258 391 505 | U-washer 5 020 871




6 Yarn length measuring device on the S T 0 L L

right complete CMS 933 THE RIGHT WAY TO KNIT

Yarn length measuring device on the right complete
CMS 933

Pos | Designation Id Pos | Designation Id
b2 Yarn length measuring device on the 257 903
left complete
1 Yarn length measuring device on the left | 257 283 9 Holding plate 258 386
complete
2 Cable ASCON 257 239 500 | T-head bolt M8x25 022 866
3 Support on the left 257 857 501 | Ribbed lock washer M8-10 023 026
4 Connecting lug on the left 257 137 502 | Cap screw M4x8 022 501
5 Adjustment weight 212 241 503 | Cable tape 92x2,4 008 642
6 Instructions ASCON 257 597 504 | Cap screw M5x12 020 132
8 DVD with operating instructions 258 391 505 | U-washer 5 020 871




STOLL

Yarn length measuring device on the right complete
CMS 933

Yarn length measuring device on the
right complete CMS 933

7

Pos | Designation Id Pos | Designation Id
b2 Yarn length measuring device on the 257 904
right complete
1 Yarn length measuring device on the right | 257 282 9 Holding plate 258 386
complete
2 Cable ASCON 257 239 500 | T-head bolt M8x25 022 866
3 Support right 257 856 501 | Ribbed lock washer M8-10 023 026
4 Connecting lug on the right 257 136 502 | Cap screw M4x8 022 501
5 Adjustment weight 212 241 503 | Cable tape 92x2,4 008 642
6 Instructions ASCON 257 597 504 | Cap screw M5x12 020 132
8 DVD with operating instructions 258 391 505 | U-washer 5 020 871




	Yarn length measuring device on the left
	Yarn length measuring device on the right
	Yarn length measuring device on the left complete
	Yarn length measuring device on the right complete
	Yarn length measuring device on the right complete CMS 933
	Yarn length measuring device on the right complete CMS 933



